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MATHEMATICS

The range of function f(x) =7 ~*P, _, is
A) {1,2,3,4})
B) {0,1,2,3,4,5)}

© {0,1,2,3}
D) {1,2,3,4,5,6)

The number of ways in which we can
post 5 letters in 10 letters boxes is

(A) 50 @) 510
© 10° @) '

"The product of first n odd natural

numbers is equal to

) c)cp)

®) ;@C,) P,

e Lo
© Z*C) Ry

L@ ZEC)CR)

lanN,thentherema.inderwhml

370+2 4 16°+1 4 30 is divided by 7 is
® 0 ® 1
© 2 D) 5

If the fifth term in the expansion of

("3 1) doesnotdependonx,d:enn
is equal to _

(A) 8
©) 16

(B) 12
D) 20

sine coso
@+ A) A~ A)!is equal to
(A) B(w) (®) B(-0)
(©) BQa) (D) B(-20)

7.

9.

10.

11.

@A)

If the system of equations x +2y -3z =1,
P+2z2=3(2p+1)y+2z=2has
infinite number of solutions, then the

value of p is not equal to
@ -2 ® -3
® 2

o o

If o f and Y are real numbers, the
1 cos(B— o) cos(y—a)

cos@-B) 1  cos(y-P)
| cost-p cosB-p 1
is equal to
@) 1
®) -1

(C) cos dwosBoosW

®) o .

Two dice are thrown simultaneously.
What is the probability of getting two

numbers whose product is even ?
@ 5 ®) 2
© 3 ®) 15

A box contains 20 electric bulbs, out ot_'
which 4 are defective. Two bulbs are
chosen at random from this box. The
probability that at least one of these is
defective is

4 5
®) 19
_ c

© 3 ® 15

If x,y € R and 2> + y3 = 16, then the

maximum possible value of (x +y) is _
A) 2 ®) 4
©) 8 D) 12



. i =P, W |
B) {0,1,2,3,4,5)

P .
\C} {09 1’ 2! 3}

®) {1,2,3,4,5,6}
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©) 5_,;(2"c.,_) CPy

©) 7C) B

g ne N, 7@ 37+2 4 160+ 1 4300

Tﬁm&amﬁwW% _
A) 0 @ 1
(C) 2 ) (D) 5

w(;tm—) o e el O £

| Peiltaanl, Ao w A Y
() 8 ®) 12
©) 16 D) 20
| Rai & A = [_0_ _tafa-l M

L tanQ U J
cosoL —sin o

B(a)=[ ) i }T‘W(I-FA)
_ sino. coso
A-AylwaRE

(A) B(®)

(C) BQwm)

(B) B(-o)
(D) B(-20)
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10.

11.

©0

@3

W ® 5

o el x4 2y - 3z=1, (p + 2z =3,

@p + 1)y +z = 2% P & il ®I F&
I ¥, T p o I Tk WA T8

A ——

Fge]
B) 73

2

@A) -2

K o, p W y AT @R §
1 cos(B-0) cos(y—0)
cos-P) 1 cos(y—B) |""'¥|'

cos(@-y) cosB-y) 1

A=

THE

A 1
(B) -1
(C) cosaucosPcosy .

©) 0
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o x,ye RARS +y3=16, (x+y)

A ESE T Y
A) 2 ®) 4
© 8 D) 12 -



12,

14.

15.

16.

Ifa,b>0,a+b =1, then least value of
4 Nnrs 1
Ll-i-‘;‘)kl-l-g)is
A) 3

© 9

(®B) 6
D) 12

If m is a natural number such that
mss,_ﬂlentheprobabilitythatthe

quadmﬁcequaﬁonxz+mx+%+%=0
has real foots is

1 2
(A) 5 (B) 5
© 32 © 3
If sin x + sin®x -lthenthevalueof
(c08'%x + 3 c0s'%x + 3 cos®x + cos®x — 1) is
equal to
A) 2 @)1
©) -1 D) 0

In a triangle ABC, right angled at C,

(tanA+tanB)1sequalto
2
@ @+b) ®
a? o
© b ®) 5

If the area of a triangle ABC is given by
A=a2-(b-c)2,thentan%is equal to

(A) -1 B) 0
©; = o}

a+b+cthenangleCmequalto
(A) 30° (B) 60°
© 90° (D) 120°

18.

19

21.

©7

I cds(B-i-o:) sin@+0) 1 |

cos(®+P) sin(@+P) 1 (is
cos(@+7) sin(@+7y) 1
independent of
A o ®B) B
© v D) o
(m +2) sin 0+ (2m -~ 1) cos 0 = (2m + 1),
if tan 0 is equal to
4 2 2
@ o537~ (@) 30 Y
{ﬂ\ &; 2m+1 ""\.-.3- m2
7 390 02 W) 4% oam+1

IfO<a,B<nandcosa+oosﬂ-
oos(a+|3)- , then

(A) a:ﬂ:f‘ 3B) a..—.%, =%1E
© a=-2§!,'g;§ D) a= =-;5

A tower stands at the centre of a circular
park. A and B are two points on the '
boundary of the park such that AB (=a)
subtends an angle of 60° at the foot of
the tower and the angle of elevation of
the top of the tower from A or B is 30°.

The height of the tower is
(A) 223 B) aAf3
©) a3 (D) 2aM3

If 4 sin* x + cos* x = 1, then x is equal to

A) % ® mt:l:sin“'\/%

Zox (D) 2om i'}

(&) nm+ ®) 5 +3
© "+ @ 2um+f
BIMMS



12. af&a,b>0a+b-1aa(1+-)(1+b)

AT AT &
A) 3 B) 6
© 9 D) 12

13. ﬂﬁ'm@mmwm%‘ﬁi
m < 5, 7 R T 2 4 x4+
?=0$ﬂ1ﬁﬁﬁﬁﬁtﬁ‘ﬂ%mﬁﬁﬁﬂ%
,an l Y 2
@) 3 ® 3

3 1
© 3 D) 3-

14, a sin x + sin’x = 1, @@
(eos12x+3cosmx+3oos3x+cos6x 1)
EI'WF{F ’
A 2 @B 1°
<o -1 (D) 0 -

15. uww B ABC #, C Wwebig ¥, @@
(tan A + tan B) ST AR &

. ' ¢
@) @+d) B 5
2 2
© E oz

16. % & B ABC ® &%l A =
az—(b-c)zﬁﬁmﬂﬁrﬁ',‘ﬂﬁtan%ﬂ
ich g
Aa) -1 @) 0
© 3 o 3

1

17. % B ABC §, ﬂﬁ'm+m-
a._'_g-l_c'aaa%urcwrﬂﬁ%
(A) 30° (B) 60°
©) 90° D) 120°
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18.

19.

21,

22.

ek

-sin(® + o)
sin(8 + B)
sin@+7) 1

I cos(®+o)
cos(8 + B)
cos(0 +7)
waA¥:

fAY v
)

© v

a :

—~
o=}

A

[+ = =~ ]

g

(m +2) sin 8 + (2m— 1) cos 6 = 2m + 1),
I tan O T A &

4 2m- _2m
B 3T ® & m? + 1
4 2m+1 3 m?
© 3377 2~ O 4‘“2m+1

'ﬂﬁ'0<a,ﬁ<1t-§ﬁ!‘cosa+cos B-
cos(a+|3)=~32-,ﬂ§|

@ o=p=F @ a=5p=F

© a=%p=F @ a=B=3
wﬁquﬂwﬂ%éﬁwﬁrt 3
wH I RARTAEBWIERE
% AB (=a) HFR # @t W 60° T H0
T & 3 A T B @ HAR & ¥ W
I T 30°Y | R A S T

(A) 223 (B) a3

©) «\3 (D) 223

e 4sintx+costx=1,FMxFAAE

(A) 921‘- ® nnisin'l'\/%

© 2_2_@ (D) 20m

sin x — 3 sin 2x + sin 3x = cos x — 3 cos 2x
+COS3xFEAE

(A) mm+g ® T+3
© C°T+5 @ 2m+f



29.

- ©

(C) 4995

The value of cos™x +cos™ (§+-21:\13-3x2),
(%st 1) is |

x . x
A % ®) 3

O = (D) zero

The function sin fcot™}(x + 1)] — co@(tan‘l x)
=0 is for x equal to
(A). -‘-5 | ®) 0

® 1

Y-

The maximum value of (2997 sin x +

3996 cos x) is equal to
(A) 2997 (B) 3996

(D) 6993

Reflection of the line x + y + 1 = 0 in the
line2x+y+1=0is :

(A x+T7y-11=0

B) Tx+y+1=0.
© Tx+y-11=0
@) Tx+y+7=0

‘The area of the triangle formed by the
lines y = ax, x + y = a and the y-axis is
equal to

N a2

A) - i

A Jieal ® [1+4].
1 _a a2

(C-) 2| a|. ®) 2|1+a|

A stick of length [ rests against the floor.

- and a wall of a room. If the stick begins

to slide on the floor, then the locus of its
middle point is

(A) astra:ght lme

(B) a circle

(C) aparabola

(D) anellipse

30.

OF

31

2.

35.

© 3

. Pisapointontheliney +2x=1and Q

and R are itwo points on the Iine
3y + 6x = 6 such that triangle PQR is an
equilateral triangle. The length- of the

side of the triangle is
1 L2
@ 775 ® Tis
A Bkl . Vi~
4
(D) T

Two tangents to the circle x2 + y2 = 4
at the points A and B meet at point
P(4, 0). The area of the quadrilateral
PAOB in sq. units, where O is origin, is

(A) 42 ®) 62
©) 43 D) &3

IIf qné of the diameters of the: circle
24y -2x- 6y +6= Olsachordto

1 +h dronen 1™
another circle with centre (2, 1), then

radius of this circle is
4 3 B) \2
D) 2

If (2, -8) is at one end of a focal chord of

the parabola y? = 32x, then the other end
of the chord is '

(A (2,-8) B) 2,8

© (32,32) ®) (32,-32)
Equatlon of .common tangent of
y? = 4ax and x2 = day is '

(A) x+y a=0 ®B) x-y-a=0
©) x+y+a=0 (D)'x-yél-a:O

" The slope of a common tangent to the

2
dﬁpse:_z*‘%f“mdam tric
circle of radius r is : i 3
@)t [575 ® A\ [75




cos™ x+oos‘L2 2‘\[3 Bﬁjﬂﬂﬁ
¥, Gst.l) ¥ fe

wf¥ o ®F
© = ©) ¥

wert sin [oot-1(x + 1)] — cos(tan™! 7) = 0
¥, x %W e & fo

A 3 ® o
©3 = o1

(2997 sin x + 3996 cos x) %1 A 9 ¥
(A) 2997 - (B) 3996
(C) 4995 (D) 6993

iﬂlx+§+l=0'ﬂi‘§l2ﬁ+y+l=0ﬁ
wEdA ¥

(A) x+Ty-11=0

B) Tx+y+1=0

©) Tx+y-11=0

D) Tx+y+7=0 .
ey =ar, x+y=a @ y-3W AT
firgor 1 frT &

a2

1
A
(A) A1+ B) [1+a]
1_a a2
© 2|1 44| ® 2|1 +a|
Wt | 9 % fow e wR A SER

W F wn wE@ Ak few Wi w
Rewer wity ¢ Y, 7@ W 7o ey

Rt

(A) W& @
®) T

(©) W&

(D) Hdgw
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32.

© 3

3y +6x=6 ﬁ'ﬁsqﬁkmmt
i Bt PQR > sy Prger ¥ 1 Brger
Y T Y T ¥ .
@) 7= ® =

vi3 V15
© ® I

R AT B W2 424
R g P(4, O)Wﬂlmhtmﬁar

PAOB, w®t O b &l ﬁl'%' T, W %ﬂ"w‘vﬁ L]
wEt

A) 42 ®) enﬁ'

©) 43

®) 83

WML 4y -2y +6=0M T
EFE (2, ) TA G TR I B A E,

W I H B E _
(A) 3 ®) V2
D) 2

Ik e y2=3zxa&ﬁmﬁm€hﬁnﬁ
o T (2, -8) &, T S o qwa R &

A 2,-% ®B) 2.8
© (32,32) D) (32,-32)

y2=4a.t1ﬁ%.12=4ayao'mﬁﬁm |

(A) x+y-a=0 (B) x-y-a=0
©) x+y+a=0 (D)'xry+s=0

ﬁﬂqﬂﬂ bz_xanramra;m
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mwmmmwms
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of the ellipse =5 2 +§- 1 passes through

an end of the minor axis if
(A) et+e?=1 B) e+
L (© f+e=1 (D) e3+e=1

37.

- 39.

41.

’I‘heequataon
_|\/x’+(y 12~ \fx2+(y+1)2|-x
 will represent a hyper parabola for

(A) Ke(0,2) (B) Ke(=2,1)

(C) Ke (1,) (D) Ke (0,)
If the foci of the cilipse ;¢ 'Y_ =1 an

<
: x2 N

the hyperbola 177 - %ﬁl = 35 coincide,
~ then the value of b?is

@) 1 ®) S

© 7 D) 9

Given A and B as two sets, then
(AUB)° U (A° N B) is equal to

(A) A® ®) B®

© A D B

In a college of 300 smde_hts, every
student reads five newspapers and every
newspaper is read by 60 students. The

total number of newspaper is
(A) atleast 30 (B) at most 20
(C) exactly 25 (D) exactly5
T
The range of f(x) = sec (z cos_2x), :
~o<x<oois :
@A) 1,421
(B) [1,e0)

(©) 2,11V [1,42]

D) (=e2,-1] U [1, )

10

47.

- (A) 2A(x) f(y)

© 3logyg (2.:-_- ) (D) 3log, 32

a+a>*
ya> 4,

Given the function I{x) = __"2

then f(x+y)+f(x y) is equal to
B) f(x) f(y)

) L £(x) f(y)
© fy) D) 2
The périod of the function
|sinx| +|cos x| is
T on
Az ®) 3
© = - (D) not defined
The inverse of the functlon
16° - 16"
Y=l +16+ "

1

_ 1
(A) log,(2-x)  (B) 51031513

2x

lim Sin~ Iy - taxrl

e 3 1sequalto

@) 2 ®3

© -1 ® 3

If the function

'f(x) {xz (A+2)x+Aff::¢22 s

continuous at x = 2, then ‘A’ is equal to

@A) 2 ®) 1
© -1 ®) 0
| S

Ii"cos1 &21'2—;%5)=10ga,then3§13
equal to |

. ' o X
w: - ®y
© ;—22- o5
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a2 o2 ' . .
36. S+ 1 PR A ST R Q2 FmEwRfn="a>2 ™

W s @y o & R} eRa 2 Al fx+y)+fx-y)TaAE
(A) e*+e?=1 B) e3+e?=1 : (A) 2f(x) f(y) B) f(x) f(y)
‘ ' _ fi 1

© Fre=1 @ Fre=1 © 3 ©) .5 &) )
37. W _ | 43 _‘Fﬁ#'sin¥|+|cos,x|$rmﬁ'

NP +g-1-PrgrP|=x o E

o ot Rm s A) 3

(A) Ke (0,2  (B) Ke(2,1) ® =

(©) Ke (1, (D) Ke (0,) -

© =

(D) aRwiityer =t o < e

ag _.c;._n_:._ﬁ . Y_2 R U . N
0. K% KIEgN 16 + = 1 it AIOYLATIy
L , SERD (o3 S NI,
T%“é"_%*qﬂwm&mﬁw . 4% TRy 16"+ 16+16% y
ek ®) log2-n  ® 3 log g
A) 1 ®B) 5 I -
©) 7 D 9 . 1 (©) 3log(2x-1) (D) zlog,;_—x
39. RmtAwBANRE aa(AuB)C 5 hmsin“x;gtan“xﬁwt
- (ACAB)WERY : x50 .
A A% ®) BC w2 ® 3
© A ®) B 1
o © -1 ®) 3
40. mﬁuﬁﬁ%qwaﬁﬁaﬁ Wt Rt
5 THERTR Yga § SR W QEERYE 60 46, I T
ﬁuﬁﬁmmm% | TR ® | x2 (A+2)x+Ax¢2€F%w}
Iy fiz)= x=2% R
(A) SHIFN30 (B) aAfumaw 20 x_zwaaataawwm%
©) IF3IF25 - (D) IFIFS5 (A) 2 ®) 1
i - | ‘ (©) -1 - Do
41. -f(x)'zsec(':;t‘coszx),—oe<x<wﬂ%i=ﬁt 47 ?l%cofl'(xz_yz\—i : ﬁggﬁﬁ%
| ' \2+y2) = 8 & T dx
A) (1,42 : y )
® [Le) | @ % - By
C)" 11U[1,42 s
© V2, 11uU(1,42] -(C)% (D)gl
(D) (=0, =1]U [, =) ye .
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49.

51

52.

If « =.'J; ..-'J; ham {uiz!_n_-!-gx\ ia
ay v T W .,mwkadxz"rzdx)m
qqualto

A) y B) xy

© ®) Vxy

The points on the curve y> + 3x% = 12y

where the tangent is vertical are
w (52 ® (5
© ©,0 ® (: % z)

A given right circular cone has a volume
p. The largest right circular cylinder that
can be inscribed in the cone has a
volume q. Thenp:qis

(A) 8:3 B) 9:4

(© 7:2 D) 3:2

IfI =Jﬁﬁ, then I is equal to
(A) sin!(2x-3)+C

@B) sin!2x+5)+C

©) sin”!3-2)+C

(D) sin~!(5-2x)+C

sin 2x

~to

KIl= mdx, then I is equal
3cosx+8

A) (3+4cosx)2+

®) —rBemsi, o
i6(3 + 4 cos x)*
3+cosx -

© (3+4cosx)2+c
3-8cosx

@) 16(3+4cosx)2+

12

. . dw :
53, lfI=J |log x| ?, then I is equal to

/e

@ 2 ®

[==]

© {i-) . o

54, Hll=ff(smh)smxdxmd

w4 _
L= J f(cos 2x) cos x dx, then LA, is
A _

equal to
A 1 (B) 2
© 1A2 ®) \2

= Jn | T o]

is equal to
(A) (B)'

© D)

wig ola
g +~1a

56. The area enclosed between the curve
y = log (x + ) and the coordinate axis is

) 4 ®) 3
© 2 o 1

57. The degree of the differential equation
. _1r .
Y2 -y -4=0is

(A) 2 B) 3
©) 4 | D) 6
58. - The order of the d1tte1:ent1a1 equation
' 5 43
1+ (%) :—x-,!ls
(A) 5 (B) 3
© 1 ® 0

BIMMS



. | r ( d%v
48, AXy=eV'+ ‘”H’q‘dez
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(3 + 4 cos x)?

P 3+8cosx
(B)

1=

(A)
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16(3 + 4 cos x)?
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61.

- B) x

The soluﬁonof';f§2=(gzi - l]dXIS
(A) y=xsin(c-x)
(B) y=xcos(c-x)
(€) y=xtan(c-x)
(D) y=xcot(c-x)

2 +sinx\d :
H(ﬁ’i);‘fhcosx,yw)ﬂ,mm
.y(g)isequalto

1
@) -3 ® 3

2

© 3 D) 1

Tangent to a curve intercepts the y-axis
at a point P. A line perpendicular to this

- tangent through P passes through

another point (1, 0). The differential
equation of the curve is

o
2@

C) y%-l-x 1

In a right angled triangle ABC, the

: hypotenuseAB=p.Then,(A_B’--E+ |

BC-BA +TA - TB)isequal to
2
@A) 3p? ®) 5
. 2
© P o %
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67.

A umt vector coplanar with (1 + _; + 2k)
and (1 + 2] + k) and’ perpend:cular to
(1+_| +k)1s
g‘i\-;-ain?)

\3
G+7+20)

\J6

(A)

(B)

The magmmde of the torque exerted at
origin by the force F =1 + 2 + K at the
point (1, 1, 1) is
(A) 1 unit

£

u..) '\,taumrs '

(B) /5 units
(D) /2 units
The acute angle between the lines

x=-24+2t,y=3-4t,z=—4 +tand
x==-2-t,y=3+2t,z=-4+3tis

-1l -1l
(A) sin N B) 008 6
(C) cos‘l'\-;—g (D) cos"I%

Length of the perpendicular from
the point (-6, 2, 3) on the plane
3x-6y+2z+10=0is

) 2 ® =
© 5 o 2

A plane passes through (1, 2, 2) and is
perpendicular to two planes 2x—2y +z =0
and x — y + 2z = 4. The square of the
distance of the plane from the point
(52,53,57)is
A) 51

(C) 153

(B) 102
© s02
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(A) y=xsin(c=~x) '
(B) y=xcos(c-x)
(C) y=xtan(c~x)
(D) y=xcot(c—x)

 60. ﬂﬁ‘(ﬁm)%z-cosx,y(ﬂ)= 1,99
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63. qwama‘wnzrﬁaa ABCﬁ‘ fam'fAB =p,
7 (AB - AC + BC - BA + CA - CB).
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72.

_If d is the distance between .the point
(-1, -5, -10) and the point of

mtersecuon ofthehnex32-y7—

—l'zrthhtheplanex-y+z=5,thend

isequalto_ G 3 _
A) 5 ®) 12
(©) 13 D) 17

Projection of point P(P) on the plane

q q * ﬂ/*\ "] '-’O 1 .
r- n--'qlsaw),men § 15 equal 1o

@-3-DT

If the algebraic sum of deviations of 20

observations from 30 is 20, then the
mean of observatipnsis

(@) 30

®) 30.1
©) 29

D) 31

The median of a set of 9 distinct

observations is 205. If each of the
largest 4- observations. of the set is

increacad hy "J then madian of new set ie

-I.I.IDI.DGMU: Ml LEIINASLEME Vi LW T oW A0

(A) increased by 2

(B) decreased by 2

(C) the sameie.20.5

(D) 2 times the original median
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73.

74.

75,

76.

- (C) 34 units

'Ifthesiandarddevnatlonofo 1,2, 3 9

mK,ﬁlenthesmnda:ddevmuonoflo

11,12,13, ..., 19is
@) K (B) K+10
© K+410 © (@ 10K

The variance of the first n natural
numbers is

| 2,
© Lgll ) &5

The probability that a man will live 10
1 ;
more years is 7 and the probability that

huwnfemllhvelﬂmoreyearsls;-

Then the probability that neither will be
alive in 10 years is _

5 _
A 12 -(B)

© 5 @)

WD N

Forces actmg on a particle have

. magnitudes of 5, 3 and 1 units and act in

the direction of the vectors 6? + 23“ + 3&,

A A A A A A
3i - 2) + 6k and 2i - 3j - 6k
respectively. They remain constant while
the particle is displaced from the point -
A2, -1, -3) to B(5, -1, 1). The work
done is equal to

(A) 31 units (B) 33 units

(D) 44 units

If @ and B are two unit vectors, then the

vector (2 + B) x (2 x B) is parallel to
the vector _
A) 2+B ®) 28+8
© 7-% ‘© 27-%
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79.

81.

. - If the slope ‘of one of the lines

represented by axZ — 6xy + y2 = 0 is
twice the other, then ‘a’ is equal to

(A) 1 B) 2

© 4 D) 8

If y = mx bisects the angle between the
lines x2(tan®0 + cos?0) + 2xy tan ©

-y? $in%0 = 0 when 6 =§. then the value

of mis
n -2?[7 ®) -7:;[2
. _213[3

© —i':‘i L

C:2+y*+2%-3=0,Cp: 2 +y?
-2x~3=0,C;: x> +y>-2y-3=0are

three circles. Which of the following
statements is wrong ?

(A) C, passes through the centre ot_‘ Cz-
(B) C, passes through the centre of C,.

(C) Centres of three circles form an
equilateral triangle.

(D) Sum of the radii of C; and C, is .

twice the radius of C3.

1 ‘\J 2 lf—ISxSI

ke d) = {l-l-logx ifx>1

The function f(x) is

(A) continuous and differentiable at x = 1
(B) not continuous but d:fferennable at
x=1

continuous but not differentiable at
x=1

neither continuous not differentiable
atx=1

©
®

The least value of k for which the
function x> + kx + 1 is an increasing
function in the interval 1 <x<2is

A) 4 B) -3

© -1 ®) -2

18

83; Theé domain of definition of

W)= logz.[-logl ,2 (1 4;,’;—4]'- 1] is
@ ©1 |
®) © 1

© (1)

@) (1, %)

If matix A is non-singular and

(A-2D)(A-4D =0, ﬁmn (%A +§A~l)

is equal to (0 is null matrix)

A) 0 ®) 1
©C) 21 D) 61
85. Which of the following is not a root of
the equation ?
| x 3 71
2 x 21|=0
7 6 x
(A) -9 ® 2
© 3 D) 7

If a, b, ¢ are consecutive positive
integers and log(1l + ac) = 2K, then thc

_ value of K is
(A) loga (B) logbh
(©) logce (D) b
@2 4y +5) sin(y — 2)dy
87. The value of (2y2 8y +1)
0

is

A) 2 B) 1

© 0 (D) -1
88. If f(x) = x* tan (%) - x In (1 + x2), then

the value of —("Lnatx=0is

®B) 6
D) 24
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ax? - Gy + v2 = 0 ¥ TEr T Yt
78, axl-Gry+y?=0% T WA A Y

TS 1 O GO AT, 7 ‘0’ WA E
A 1 B) 2
© 4 D) 8

79. ﬂﬁ‘y:mxi'ataﬁxz(tanze+cos20)+_
2xy tan © - y2 5in%0 = 0 % &g & vy B

ﬁﬂlﬁ!ﬁm&meg%aﬁquﬂt

(A) 2iﬂ7 ®) 7:|:ﬂ2
© JQT (D)ﬂ* 3

80. C11x2+y2+2'x—3=0,C2:.x2+y2—
. 2x-3=0,Cy: 2 +y?-2y-3=0%dR
9 | Feffm Rl s w e
o ¥ ? '
(A) C\, C,FFXATTRATY |
B) Cp, C,FFERATME |

© gﬁaﬁﬂ»‘iﬂwmﬁwm
|

D) c,qﬁcza?rﬁ—;mﬁasrﬁncaﬁ
Prarm

1-41-2 , a-1<x<1
8k 'ﬁmtf(x)={l+log% , AEx>1
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(A) 4 ®B) -3
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®) ©.1

® ©,1]

© [1,)

©) (1)
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(0 & 2 A &)
4) 0 ®) 1
© a (D) 6l

mﬁﬁﬂﬂmm

x 3 7

2 x 2 {=0meATEE?
7 6 x :
(A) -9 (B) 2

D) 7

IR a, b, ¢ FANK AREE it § AR
log(l +ac)=2K, @ K S u & ,

(A) loga (B) logb
©) loge D) b
fgﬁ-#lz-l-é[smggmzm

2y?-8y +1)
(A) 2 ®) 1
© o0 D) -1
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92.

"1 w?

i 1, W, WY .

......... (2-w"~1)is equal to
(A) 2° ®) 21
(©) 2"+1 D1

The locus of Z satisfying the inequality
loggg) |Z+ 1] > loggg) |2~ 1]

@ L@<O B L@>0
© R,@<0 (D) R,(@D>0

1f| 22— 1] =|Z|? + 1, then Z lies on

(A) _the imaginary axis
(B) the real axis

©) y=x
(D) circle

lf.a =.cds (‘%ﬂ) + i sin (%E), then

. ol o2 1 .
| 08 of of lisequalto
o o a5
A) 0 ®B) 1
© 2 ®) 3

'IfZI,Zz,Z33revetﬁcwofau'iangle.

thenz"'—zl=i00ﬂespondstoa!an )
-4 T S

(A) equilateral triangle
(B) obtuse angled triangle

. (C) rightangled isosceles triangle

(D) ordinary triangle

lfﬂxeharmonicmeanbetweénrootséf

5+\22-bx+@+2(5)=0is 4,
then b is equal to

A 2

© 4-+5

®) 3
@) 4+

o9~ 1 are the
roots of unity, then 2-wE-w)

: Llntmbeareneatedrootofx3+3ax2+

3bx+c=0, thenwhlchot'the follomng

. statements is wrong ?

100.

© o

(A) aisarootof x> +2ax +b=0

(B) ‘aisarootof ax* +2bx+c=0
" ab-c

©e=2

. .c—ab |
@) =@ b

The sum of all the real -numbers
satisfying the equation 2 + |x—1j=1is
A o @) 1
<) 2 - (D) 4

Ifab, catethmenmequalnumberswch
that a, b, ¢ are in arithmetic progression
and b — a, ¢ - b, a are in geometric

. progression, then ratio a : b : ¢ is equal
to : .

(Aj 1:2:3
(C) 2:3:4

- (B) 1:3:4
D) 1:2:4

Sum of n terms of the series (0% — 12) +
2(n2-22_) +3m2 -3+ s
@ iv@-n @3
©) 2002~ 1y
24 1032192
The value of | 3—=—7 log962 lvgul}
@ 0 -
©2 @3

The solution set of the inequality

m e o 42

logJ;‘! is
(A) (-2,-1) (B) 2,3
©) -1,3)

® G
| i
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93.

(0 4+

?lﬁ‘l w, w2
™ QR-w)(G- w2)..._...(2 w“ l)m
Lo 8 S

®) m_q
©) 2°+1 D) 1
STt log g g |Z + 1| > log g |Z - 1]
U H Ao 2w g

A) I,(Z)<0 ®) I,2)>0
© R, (2)<0 D) R,(©)>0

a|22-1] =|z2+ Lz wTE Y

(A) Sfrwfeaa s@ )
(B) arafye 3w @
© y=xW '
(D) IR

= cos (2) i sn (B) v

o o 1
of of ot
o o o
(A) O
(C)2

Log: o8 4

®) 1
®) 3

w®z, Z, zaqm‘ﬁqwivvhﬁi‘ a

:‘; §;=1m&'w%

(A) W Brger
B) it wivig frpr

(O Wi wufg Pt

(D) R fer

WG+ D2 -bx+@+25)=0%
T Fde s a4, mb I A ¥

@A) 2 ®) 3
(D) 4445

wh- 1mi'i?n1mi' :

a1

L© 0 @ 200?-1)
03224 logz 192
log%Z log1 2 EI‘IFT'%’
A o @) 1
(©) 2 ®) 3
ettt iog3(x'+ 2) (x+4)+log,s (x+2)
<'2'log¢7 wmﬁz% |
@A) (2,-) ®B) <23)
© 1,3) D) B,»)

e & R o RO 13 + 322 + Fhx+c= 0

T R SR AW e O 8, A Preifeiaa

TR A AITRTAY ?
(A) 0,2 +2ax+b=0HTHTAL |

B) o, a2 +2bx+c=0HFMTH AL |

-c
-b

- ¢—ab
D) ¢=22 1)

ab
© a=3

T 2 + [x-1] = 1 B WqE T

a@wmmﬁwﬁn%
(A) 0 B) 1
© 2 D) 4

R a, b, ¢ A SraaR HEt 59 R ¥ B
a,b,cTRR AN AEAb-a,c-b,a
TR Aot § & 79 SO a b cHARY
(A) 1:2:3 . (B) 1:3:4
€) 2:3:4 . D) 1:2:4
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2. Roll No., Examination Centre and its Code and Test Booklet No. should be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the
ctrclescorrespondmgtothedxgﬂsbeblackenedmthl!hell!lackhllpointpenonly

Fee-w & Wl & Pt Wt ot e R/ vl e/ when-gie @ we i B oo ®
FILET-HT A6 | W | TR & WP @RI A 3 Sel W Hor @t Aelt / el @t § wF s st vt @
Rrds <fieft / wovelt e wmfz 4 @ W B

Example : If Roll No. is 179682 and the Question Booklet No. is 14390, then

TR e e TR 179682 ¥ o wier-gfr e 14390 ¥, At
11719]|618}2 114131910
QElEEEIE QEEIEE
elo|o|o|o|e P|0|0|0|6
Q|O|®|0|e|6 lolfoX[ Jlo}{o]
o] [ol o) (ol (O (O] @000
®|O|®|0|0|® 1®|0|0|60|6
ole|e|e|e|e olo|e|ele
0|e|0|0|0|0| - |10|10|0|0|0
eleleoleiele OO OO O]
OO|e|0|0|® ®|o|o|0|C
@|lo|0|e|e|e @|o|o|o|®

(C) Process for Filling up OMR Answer-Sheet (3%%-we w&-11 !’tﬁ!ﬁ!h‘l) :

1. . The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate must blacken the appropriate circle provided in front
of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencil for darkening the
circles on the answer-sheet his/her answer-sheet will be rejected.

W R TR ¥ | e v & R R T farew Tt o / St v @ waifiew Srgw w&mﬁm‘tm

e & waiiew S frea & gt & weafya et ot el / el s wre T A e | o i Seiear
TR i Yot @ T ¥ Al ST SRS W W Ry R |

Example : If correct answer for question no. 7 is the choice ‘B®, then darken the circle in front of question no. 7 as
shown below :

m : o s w7 % fore foreew B Wit s, a}mm7$m%mmﬂ$}ﬁﬁm&ﬁm
: TrTE:

QTNo.l ® © 0

QNo.2 (@ ©0©

@) @O0
 (a) 'Ihecucles,asdescnbedmC-labovc,amtobedarkmdbyusmgmmlBla&BaﬂPointPenonly
(%) IR F7 C-1 7 TR T TR et 7 et/ wveht afer ez O g & TE0 Y

© (b) The shading should be dark and should completely fill the circle.
(@) Tiet = oy @ s o T A e )

Q. No.”

Continued on the next page.
o ' , : 23 o (e TSR |)
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(c) Only one circle corresponding to the correct answer shouid be darkened as sh wi below :

(m) T IO Y i e O A e o S ey S R e

Incorect/ T B Q@ @O « OPOO «- YOO - B®OO

comect /T D @O « OOOO * OGSO =« OGO =

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropﬁaxecixcleusingBludBlackballpoimspenasnochang_einansweroncemarkedisallowed.Useof

eraser or white / correction fluid on the answer-sheet is not permissible as the answer-sheets are machine
gradable and it may lead to wrong evaluation.

(5) s e e / el st @mie wem I @ e anadt 3w it e g e B 9 s e
i W et B o1 @ ¥, i e o ¥ o e e At ¥ | SR o O e W
T 7 frrert 3 sl @ S i b, i ST 0 i R e RRa e § SR S R W
et § e @ wd ¥ | ' '

() If more than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
mannerorasshownin“lnoo;rectMod”above,itshaﬂbemdaswrwgwayof‘marking.

(3) TR TE D afE e @ et / el die e wHew T R ar S el o R @ Fyar FR ErR ™
TTore i @ ST R TR A S T T R SR | '

. Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only

be used for this purpose. ' .

fepelt WP oY el ST S-S 1 o -t < v e et w ot e €, St e

wTHE | '

“BarCode”p;intedonﬁneﬁnswerSheetmustnotbgtampemdorinanywaymaked;otherwisemccandidamre

will be rejected. | ' :

| SUTE W B “ar e W Rl oRE T P s A Rl e = g i g @R € e

el W Sl A A R : _

Candidate must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR

Answer Sheet as this may lead to disgualification. :
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. Forverification of your handwriting, it is necessary to write the prescribed Text completely whichis printed on the

back side of the Part-I of OMR answer-sheet and also put your signature on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.
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. In case you do not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
liable to be rejected for which you yourself will be fully responsible. )
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